
Subtracting up to 1000 with carrying (H - set 3)
SUBTRACTING UP TO 1000

Name:

Time: Score: /

121) 952− 511 = 131) 718− 421 =

122) 930− 929 = 132) 886− 186 =

123) 176− 90 = 133) 472− 117 =

124) 533− 517 = 134) 711− 187 =

125) 645− 476 = 135) 631− 360 =

126) 520− 508 = 136) 903− 682 =

127) 693− 487 = 137) 909− 64 =

128) 63− 33 = 138) 529− 154 =

129) 56− 25 = 139) 670− 132 =

130) 321− 168 = 140) 733− 55 =

Mathematics: Subtraction - Level 6 - Horizontal - Set 3 8 © workulum.com

https://www.workulum.com

